RF Exposure eval uation
For FCC | D: 2AS7V- Y- SKR17

According to 447498 D04 Interi m General RF Exposure Gui dance vO01
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and [ is in GHz, 4 = the sepamton distance (cm). and ERFP s & per Formula (B.1)
The example values shown m Table B.2 ssv for illustrstion caly.
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3060 15GHz < f <6GH:z

Table B.2— Example Power Thresholds (mW)
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eirp = pt x gt = (EXd)?% 30

wher e:

pt = transmtter output power in watts,

gt = nuneric gain of the transnmitting antenna (unitless),
E = electric field strength in V/im ---  10((dBuiV/m/20); 106
d measur enent distance in nmeters (m---3m

Sopt = (EXd)% 30 x gt

Ant gain =-0.58dBi, so Ant nuneric gain= 0.875

Field strength =90. 68dBuV/ m @m@2402MHz (Wor st Case)

So Pt={[10(%6820/105 x3]2/ (30x0.875)}x1000 MmN =0. 401mN
<2.72 mW

Then SAR eval uation is not required



